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5. Sketch the set (described in cylindrical co- 7. Find a parametrization oflthe curve; the in-
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6. Find an equation of the form p = f(0,¢) in 8. Assume that two paths ry (¢) and rs (t) inter-
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22 — 3(x? + 2 | We(ts.'_a).y Ehat ri (t) and rs3 (-f\J collide if ry (to) =
; _ . . rz (tn) at some time to.
g X= oG S
[§13.7 #56] Let: y'r 6 "vt Determine whether ry and rs collide or inter-
Y =f $ing Sinff sect:
- pecyd £ (8) =, ~1%,3¢ -
e ; J ; ey (1) = (46 + 6,262, as z). [like §14.1 #37)
3=0cat @ = A dee e siv dbs £ S0 ST 8
q 7 ( £ @+ ~:‘u-l w)T_{T {t :’ “ﬁt)“’?:(d't*b 2% .g't)

2 - - = .
= 3(‘} SV (! (e #+5ing )

t ]1.} - AL A - ,'f—'_l
= 2 fin ¢ [ =AY X =) 4+ 13 t43=0 2 M=o
D 40 2 . TH- | L3€ 2= B4 | 242 O [re==3.%
>} t{-'L(ﬁ = 2(" $in G{ ATk X ax ~\p=0 [T=%
) = iy = =7
== 3 [(LLEI‘ ”1 . V= & "‘*lu-id."ft“{u‘(t’ t =
. > >, _ vofmt P == ® (0o
=3 i-_':(? By {((?])U\‘:;;L',‘“tr )= o +heve , A f ' ' )
B ‘_"\‘ -: [u!'|._-1 7n }‘{T[ CL‘PV{’E- ci 'tLl
COlgh = 37 (B | ‘é
S g -
= 4 ——b /.
+an@= 3 t) and ?‘Hi CollTde
van @ - :j_g
’7‘ -~ s ..2-
b -E or c-_-_n

- - L
+hut +he e(i'm.trm‘l (5} (=0 ox (,6:-*6‘ A




	1.pdf
	2

